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1 #include<iostream>

2 using namespace std;

3  const int SIZE = 50;

4 dint nl,ml,n2,m2,a[SIZE][SIZE],b[SIZE][SIZE];
5 1int mainQ

6 {

7 int i,j,k1,k2;

8 bool good ,haveAns;

9 cin>>nl>>ml;
10 for(i=1;i<=nl;i++)
11 for(j=1;j<=ml;j++)
12 cin>>alil[j];
13 cin>>n2>>m2;
14 for(i=1;i<=n2;i++)
15 for(3=1;j<=m2;j++)
16 (W— O;
17 haveAns=false;

18 for(i=1;i<=n1-n2+1;i++)

19 for(3=1;j<= (0 );j+H{
20 ((€) N

21 for(kl=1;kl<=n2;kl++)

22 for(k2=1;k2<=C(4)_____ );k2++){
23 if(ali+k1-1][j+k2-1]!=b[k1][k2])
24 good=false;

25 }

26 if(good) {

27 cout<<i<<' '<<j<<endl;

28 G)— );

29 }

30 }

31 if(!'haveAns)

32 cout<<"There is no answer'<<endl;
33 return 0;
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1 (D cin>>b[i][j]
2 (2) ml-m2+1

3 (3) good=true

4 (4) m2

5 (5) haveAns=true
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#include<bits/stdc++.h>
using namespace std;

struct nod{int x,t;};
queue<nod>T1;

int n,st,ed,a[210];
bool f[210];

void bfs({

T.push((nod){st,0});
flst]l=1;
while(!T.empty()){

nod k=1.front(Q;

1.popO);

int x=k.x+al[k.x];// Lt

int y=k.x-al[k.x];// Fi%

if(x==ed| |y==ed) {
cout<<k.t+1;
return ;

if(f[x]==0&&x<=n) {
1.push((nod) {x,k.t+1});
flx1=1;

3

if(fly]==0&&y>0) {
T.push((nod){y,k.t+1});
flyl=1;

cout<<-1;

int main()

{

cin>>n>>st>>ed;
for(int i=1;i<=n;i++) cin>>al[il;
if(st==ed){

cout<<0;
return 0;

bfs(Q;
return 0;
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